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Let the Xn»2 differentiate by teaching it in the same case; when are
these rules applicable, by a 7¥, however by a an, etc.

OVERVIEW

The X3 cites the X172 of MY 5"y 2wWn 1777 191 W N5 to prove that X117 1"
(assuming that we are discussing a an). The X723 refutes this proof, saying that the
Xn>71 is discussing a 7v1. The X3 challenges this refutation, arguing that the
Xn>72 should have differentiated between a 7912 and a an (instead of differentiating
between an 72¥ and a [0 Mw)'. Mmoo has a difficulty with this proposed
differentiation between a on and a 7 n.

nooIN asks:
= 98y 29 by dhun 1PN 92 5aN 91 919919 Y81 1Y 9N NN

It is astounding! How could have the Xn>12 stated this: ‘however by a an he

does not pay by his own admission’ (as opposed to a 791)?!
- 133199 NN 1Y NINIYI BYYN DI1Y 29 YY1 YPYUNT

For this statement would indicate that by the testimony of witnesses he would

pay” in the case where his ox killed someone; but this inference may not be true, for -

:99Y3 98N DYYM DN MINT $99930 Y09 399 920 KY ‘NnbT
Perhaps the Xn>72 does not agree with 2'';1>9 who maintains that a an pays s3n
9212; but rather the Xn*72 maintains that there is no 791 payment at all by a n°»w an. Therefore
the Xn>>12 can indeed be discussing a 7911, but it could not have concluded * 5"y o%wn X ona ax
MYy’ for this would be a misleading statement (in the [first] case of *1195 nX W n°n77) indicating
that he is only mxy 2"y 7Ww5 but not 2>7v 2"y, where in reality it is possible that the ¥n>972
maintains that by a an there is never a 191 payment even 2°7¥ 5"v. mdoIN does not offer an
answer.

SUMMARY
It is difficult to understand how the Xn>12 could have said that in a case of Dnn
1799 nR W that he is not XY 9"y own if it is a an; for the inference is that if it

" The xn>72 rules that by >1199 > N7 or 1129 5w 1w he is 21; however by 121172y *1w N7 he is Mws.

* See M99 "7 >"w" that the question of "2 *31°1 21957 was only concerning the case of 1w >N naA. See X"w7mn
who explains why moin rejects this explanation (for to divide the X"7»2 as >"w" maintains, would require a lengthier
explanation which is (generally) not acceptable w">v).

? When it says that you do not pay 7xy 5"y, the inference is that you pay o7 2"y.

* See “Thinking it over’.
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were 0°7¥ 8"y, he is 07>wn. This is not necessarily so; for the Xn>*72 may not agree
with 3"7777 that 7915 (°¥17) 2%wn an.

THINKING IT OVER

moon states” that there is a difficulty since perhaps the 012 disagrees with 3"
However it would seem that there is a greater difficulty. How can the Xn3 argue
that the Xn>92 should state that by a an the rule is that 73y 5"y nown ]’N,6 for if the
Xn>12 agrees with 3"77°7, then the only time that a on pays 7912 is if it is XY 9"y;
for if it is 0>7v 8"y (where he is 772°P0 2717) then the an is MMWo from 7912 since the
owner can say 72 a2 725 wxoan.” Therefore the only way to explain this X022
that by a an he does not pay mxy 9"y 7913 is if we disagree with 3" and maintain
there is no an2 7912. Then the question of Md0IN is much stronger; how can the
Xn>>12 state that by an he is not mgy 9"y o%wn, indicating that by 07y 9"V he is
o>wn, when this Xn>12 certainly disagrees with 2"7°7 and maintains that °X on
991977 PR oown.”

3 See footnote # 4.

% This will refer to the case of *1195 nX ™1 N7 (in regard to 7913) and to the case of 1MW 1w N (where he is Mo
[since] we maintain that X01p 1"9.

7 See previous & 17"7 Md0IN (footnote # 8).

¥ See: 1N 772 7"AR) 7w 0"ARA (0 MR MY PIPR) TIRA R"WIAR.
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